BE L A7 E AR Py ML
ER AR (T E [T E | Fpa | FpEsa |7 gl [T 6] (R Rad R pRA g[S pEa |Lpea [ Apdeg St s g3
LS ol P EE B b di i LS ol P EE B b di i
112 #i 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
112 vRgE |l 16.67% |2 33.33% |3 50% 0 0. 0% 3 50% 3 50% 6
112 iz |16 28.57% |26 46.43% |42 75% 5 8.93% |9 16.07% |14 25% 56
112 EE(R) |25 8. 5% 132 44.9%  [157 53.4% |25 8. 5% 112 38.1% 137 46.6% (294
112 £ =0%) |0 0. 0% 37 50% 37 50% 0 0. 0% 37 50% 37 50% 74
112 B3 43 9.98%  [197 45.71%  |240 55. 68% |30 6.96% |16l 37.35%  |191 44.3%%  [431
111 #i 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
111 vReE |1 16.67% |2 33.33% |3 50% 0 0. 0% 3 50% 3 50% 6
111 EEICLOMIE! 26% 23 46% 36 2% 6 12% 8 16% 14 28% 50
111 EE(R) |22 8.12%  [124 45.76%  |146 53.87% |22 8.12% 103 38.01%  |125 46.13%  [271
111 £ =0%) |0 0. 0% 36 54.55% |36 54.55% |0 0. 0% 30 45.45% |30 45.45% |66
111 kN 37 9.39%  |185 46.95%  [222 56.35% |28 T.11% |14 36.55%  |172 43.65%  [394
110 #i 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
110 vReE |1 16.67% |2 33.33% |3 50% 0 0. 0% 3 50% 3 50% 6
110 i) |18 29.51% |27 44.26% |45 73.77% |5 8. 2% 11 18.03% |16 26.23% |61
110 EE R |30 9.26%  [151 46.6%  |181 55.86% |21 6.48%  [122 37.65%  |143 44.14%  [324
110 £ =0%) |0 0. 0% 38 04.29% |38 54.29% |0 0. 0% 32 45.71% |32 45.71% |70
110 kN 50 10.82%  |218 A7.19%  [268 58.01% |26 5.63%  |168 36.36%  [194 41.99%  |462
109 #i 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
109 vReE |1 16.67% |2 33.33% |3 50% 0 0. 0% 3 50% 3 50% 6
109 i) |18 31.58% |25 43.86% |43 75.44% |4 7.02% |10 17.54% |14 24.56% |57
109 EEGR) |31 9.51%  |155 A7.55%  |186 57.06% |20 6.13%  [120 36.81%  [140 42.94%  |326
109 £ =C%) |0 0. 0% 42 56% 42 56% 0 0. 0% 33 44% 33 44% 75
109 kN 51 10.97%  [224 48.17% |25 59.14% |24 5.16%  |166 35.7%  [190 40.86%  |465
108 #i 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0 0. 0% 0
108 vReigE |0 0. 0% 3 60% 3 60% 0 0. 0% 2 40% 2 40% b)
108 # iz G |21 35% 26 43.33% |47 78.33% |2 3.33% |11 18.33% |13 21.67% |60
108 EE(r) |28 8.92%  |153 48.73% 181 57.64% |20 6.37%  |113 35.99%  |133 42.36%  [314
108 £ =% |0 0. 0% 42 53.85% |42 53.85% |0 0. 0% 36 46.15% |36 46.15% |78
108 kN 49 10.72%  [224 49.02%  [273 59. 74% |22 4.81%  [162 35.45%  |184 40.26%  [457
107 #i 0 0. 0% 0 0. 0% 0 0. 0% 1 100% 0 0. 0% 1 100% 1




107 vREgiE |1 16. 67% 3 50% 4 66. 67% 0 0. 0% 2 33. 33% 2 33. 33% 6
107 BiEGe) |21 34. 43% 24 39.34% |45 73. T7% 1 1. 64% 15 24. 59% 16 26. 23% 61
107 BEEG 130 9. 4% 158 49. 53% 188 58. 93% 20 6. 27% 111 34. 8% 131 41. 0% 319
107 122G [0 0. 0% 40 51.28% |40 o1. 28% 0 0. 0% 38 48. 2% 38 48. 2% 78
107 ki 52 11.18% 225 48. 39% 277 59. 5% 22 4. 73% 166 35. T 188 40. 43% 465
106 iz 0 0. 0% 0 0. 0% 0 0. 0% 1 100% 0 0. 0% 1 100% 1
106 vREgiE |1 16. 67% 3 50% 4 66. 67% 0 0. 0% 2 33. 33% 2 33. 33% 6
106 BiEGe) (19 31. 67% 25 41.67% |44 73. 33% 2 3. 33% 14 23. 33% 16 26. 67% 60
106 BEGY (32 9. 94% 161 50% 193 59. 94% 16 4.97% 113 35. 09% 129 40. 06% 322
106 122G [0 0. 0% 33 47. 83% 33 47. 83% 0 0. 0% 36 52.17% 36 52.17% 69
106 ki 52 11. 35% 222 48. 47% 274 59. 83% 19 4.15% 165 36. 03% 184 40. 17% 458
105 iz 0 0. 0% 0 0. 0% 0 0. 0% 1 100% 0 0. 0% 1 100% 1
105 vREgiE |1 16. 67% 3 50% 4 66. 67% 0 0. 0% 2 33. 33% 2 33. 33% 6
105 i CR) |20 33. 33% 25 41.67% |45 5% 2 3. 33% 13 21.67% 15 25% 60
105 BEEGY |31 9. 48% 166 50. 76% 197 60. 24% 16 4. 89% 114 34. 86% 130 39. 76% 3217
105 122G [0 0. 0% 34 45. 95% 34 45. 95% 0 0. 0% 40 54.05% |40 54. 05% 74
105 ki 52 11.11% 228 48. 2% 280 59. 83% 19 4. 06% 169 36. 11% 188 40. 17% 468
104 iz 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
104 vREgiE |1 16. 67% 2 33. 33% 3 50% 0 0. 0% 3 50% 3 50% 6
104 HEGr) (22 36. 67% 25 41.67% |47 78. 33% 1 1. 67% 12 20% 13 21.67% 60
104 BEGY (29 8. 92% 165 50. 7% 194 59. 69% 17 5. 23% 114 35. 08% 131 40. 31% 325
104 12 izG%) [0 0. 0% 36 46. 15% 36 46. 15% 0 0. 0% 42 53.85% |42 53. 85% 78
104 ki 53 11.28% 228 48.51% 281 59. 79% 18 3. 83% 171 36. 38% 189 40. 21% 470
103 iz 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
103 vREgiE |1 16. 67% 2 33. 33% 3 50% 0 0. 0% 3 50% 3 50% 6
103 HEGr) |18 32. 14% 27 48.21% |45 80. 36% 1 1. 79% 10 17. 86% 11 19. 64% 56
103 BEGY (29 8. 9% 163 50% 192 58. 9% 20 6. 13% 114 34. 9% 134 41. 1% 326
103 12 izG%) [0 0. 0% 37 46. 84% 37 46. 84% 0 0. 0% 42 53.16% |42 53. 16% 79
103 ki 49 10.47% 229 48. 93% 278 59. 4% 21 4. 49% 169 36. 11% 190 40. 6% 468
102 iz 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
102 vREgiE |1 20% 2 40% 3 60% 0 0. 0% 2 40% 2 40% 5
102 i) |20 35. 09% 25 43.86% |45 78. 95% 2 3.51% 10 17. 54% 12 21. 05% 57
102 BEGR) (27 8. 52% 160 50. 47% 187 58. 99% 19 5. 99% 111 35. 02% 130 41. 01% 317
102 12 izG%) [0 0. 0% 31 42.47% 31 42. 47% 0 0. 0% 42 57.53% |42 57. 53% 73




102 B3 49 10. 82% 218 48.12% 267 58. 94% 21 4. 64% 165 36. 42% 186 41. 06% 453
101 iz 1 100% 0 0. 0% 1 100% 0 0. 0% 0 0. 0% 0 0. 0% 1
101 v@diE (0 0. 0% 3 5% 3 5% 0 0. 0% 1 25% 1 25% 4
101 gaEGe) |16 28.57% Al 48.21% 43 76. 79% 3 5. 36% 10 17. 86% 13 23.21% 06
101 B iE(G) |30 9. 2% 163 50% 193 59. 2% 19 5. 83% 114 34. 97% 133 40. 8% 326
101 2 =G [0 0. 0% 33 44% 33 44% 0 0. 0% 42 56% 42 56% 70
101 B3 47 10.17% 226 48. 92% 273 59. 09% 22 4. 76% 167 36. 15% 189 40. 91% 462
100 i 0 0. 0% 0 0. 0% 0 0. 0% 1 100% 0 0. 0% 1 100% 1
100 v@diE (0 0. 0% 4 66. 67% 4 66. 67% 0 0. 0% 2 33. 33% 2 33. 33% 6
100 gaEGe) (19 32. 76% 26 44. 83% 45 71.59% 2 3. 45% 11 18. 97% 13 22.41% 58
100 EiE(GR) |33 9. 85% 163 48. 66% 196 58.51% 19 5. 67% 120 35. 82% 139 41. 49% 335
100 2 =G [0 0. 0% 35 47. 3% 35 47. 3% 0 0. 0% 39 52. Th 39 52. Th 74
100 B3 52 10.97% 228 48. 1% 280 59.07% 22 4. 64% 172 36. 29% 194 40. 93% 474
99 i 0 0. 0% 0 0. 0% 0 0. 0% 1 100% 0 0. 0% 1 100% 1
99 v@diE (0 0. 0% 4 66. 67% 4 66. 67% 0 0. 0% 2 33. 33% 2 33. 33% 6
99 gaEGe) |18 30% 28 46.67% 46 76. 6% 2 3. 33% 12 20% 14 23. 33% 60
99 EiE(G) |30 9. 09% 165 50% 195 59. 09% 20 6. 06% 115 34. 85% 135 40. 91% 330
99 2 =G [0 0. 0% 37 48. 05% 37 48. 05% 0 0. 0% 40 51. 95% 40 51. 95% i
99 B3 48 10. 13% 234 49. 3% 282 59. 49% 23 4. 85% 169 35. 65% 192 40. 51% 474




